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R % i KE wRE
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H
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B
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8. id
AME: P id
x5l FER
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AR KE AT
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P
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BUYE EE 32 44 BROWSINGHISTORY
B GAE (H48) : JEIERE
F8. id
Ahg: P id, R id
r5l. FERI
A% : id:primary key, unique, not null;
P | BEEEMS | BEERA | BEE AR E H _rRESL | TR
AR KE AT
N A id int 11 | 00000000001~ ea F i,
abod 99999999999 E—Fr;
id P
H 31 date Datetime | 20 N
P userID int 11 | 00000000001— 5 AN,
id 99999999999 I
3R
8 | questionID int 11 | 00000000001~ P i
Bk A
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¥ F & 4 REPORTREASON
RISGHE (H14) « BRERR
E4&: id

Shed: T

Rl FERSI

Z%: id:primary key, unique, not null;

X | RS | BER | BEEK | AREE | R | 3R

B it i3 AT

ZEH id int 11 00000000001 BN B

JE A 99999999999 M —Fr
id iH

o

JR A content varchar 255
N2

HHE R 4 REPORTTYPE
FISGE (F48) = HERAHIR
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Sr: T

w9 ERERE
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FX | HEENE | BEER | HEK | 4XREHE ~ER R
A %4 i i3 WAT
254 id int 11 | 00000000001~ 75 Tk,
eyl 99999999999 ME—F:
id H
5] type varchar 255 =
G FE R %4 QUESTIONTYPE
B SCE (3148) : HERAIER
F8. id
M. T
&R5|:. FRRII
Y55K: id:primary key, unique, not null;
B | BIEEMES | BIER | BEE ZIRIEH 2ER | FR
2K i KE AT
EE: id int 11 | 00000000001~ 75 X ik,
5 99999999999 ME— b5
id o
mES categorylD int 11 | 00000000001— 5 AN,
BES 99999999999 REKT]
ok
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id ®IH id
JE %
2l subjectID int 11 [ 00000000001-| 75§ SN,
e 99999999999 RIK
id Fhor2k
R id
JE 1
Al ma jorlD int 11 [ 00000000001- [ 7 b,
e 99999999999 Kt
id kg3
R id
JE 1

B ¥s % R 4 QUESTIONSTATE
FISGE (B4) : HBURESR

FH: id
AhRt: B
5. FRERSI

#%9: i1d:primary key, unique, not null;

F3C | BERE | BIER | BB | AXREE | RS | I8

By i % i} KE LSt

[F1] 2 id int 11 | 00000000001~ 3 F 5,
R 99999999999 ME— ¥
id A

oA
I
&
==

RS state varchar 10
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B e 2% 4 QUESTIONSCENARIO

R GA (Bl48) - HEgGRR

T8 id
Ahee:

Rl FERSI

Z%: id:primary key, unique, not null;

B3| BUEEM | BaEE | BuEK | AXRTEHE =ER | ER

LR % # i3 WRZE

i) @ id int 11 00000000001- 5 T+,

758 99999999999 WE—Fr
id H

A FK name varchar 255 %

¥4l FE % 4 USERIDENTITY

FISGA (B14) : AP BHE

F8: id

SR ERR IR id, ERBER id, Tkakid
&5 FEES

ZJR: id:primary key, unique, not null;
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FC | BIEEEEZ | BER | BE 2R E H _RER | H#E
2K i KE sy ket
By id int 11 | 00000000001 5 T4,
id 99999999999 ME— R
iH
R schoolID int 11 | 00000000001~ & AN,
ok 99999999999 K2z
id WA
FRH] id
&M
2L 1 : _ b
ELE@ collegelD int 11 | 00000000001 B ?}ﬁéﬂ
P 99999999999 KR
id By
W) id
&
. _ =
%;#k major1D int 11 | 00000000001 2 ?&ﬁ§,
mk 99999999999 KEE
id N
1 id
&M
~L . _ =]
5| st udentNum int 11 | 00000000001 72
99999999999
— . _ =
T SobNum int 11 | 00000000001 72
99999999999
- :
4 name varchar 32 iR ﬁﬁF‘E
Szt 4
G4y type varchar 0 THUM” B A = X 51)1%
R Ao 10K

e
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4.3 K E— Bovk Bt

ADMIN & :

CREATE TABLE admin (

“id  int(11) NOT NULL AUTO_ INCREMENT,

“account int(4) NOT NULL,

"passwd  varchar (255) CHARACTER SET utf8 COLLATE

utf8 general ci NOT NULL,

PRIMARY KEY (" id ) USING BTREE

) ENGINE = InnoDB AUTO INCREMENT = 1 CHARACTER SET = utf8

COLLATE = utf8 general ci ROW FORMAT = Dynamic;

USER % :

CREATE TABLE user (

“id  int(11) NOT NULL AUTO INCREMENT,

“email varchar(128) NOT NULL,

"passwd  varchar (128) NOT NULL,

"name varchar (255) NOT NULL,
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“introduction varchar (255) DEFAULT NULL,

“gender varchar (10) NOT NULL,

“isAttest tinyint (1) NOT NULL,

"date datetime NOT NULL,

“badgeNum int(11) NOT NULL DEFAULT ’0’,

“exp int(11) DEFAULT NULL,

“stateID int(11) NOT NULL,

“identityID int(11) DEFAULT NULL,

PRIMARY KEY (" id’),

KEY stateID ( statelD ),

KEY identityID ( identityID ),

CONSTRAINT “user ibfk 1  FOREIGN KEY ( stateID’)

REFERENCES userstate ( id ),

CONSTRAINT "user ibfk 2  FOREIGN KEY ( identityID )

REFERENCES useridentity ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;
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QUESTION % :

CREATE TABLE question (
"id int(11) NOT NULL AUTO INCREMENT,
“userID int(11) NOT NULL,
“title varchar(30) NOT NULL,
“content text NOT NULL,
“typeID int(11) NOT NULL,
“stateID int(11) NOT NULL,
“scenarioID int(11) NOT NULL,
"date datetime NOT NULL,
“isDelete tinyint(1) NOT NULL,
PRIMARY KEY ( id ),
KEY typeID ( typelD ),
KEY stateID ( statelD ),
KEY “scenariolID ( scenariolD ),

KEY userID ( userID ),
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CONSTRAINT question ibfk 1 FOREIGN KEY ( typelD )

REFERENCES ~questiontype ( id ),

CONSTRAINT question ibfk 2 FOREIGN KEY ( statelD )

REFERENCES ~questionstate ( id ),

CONSTRAINT question ibfk 3 FOREIGN KEY ( scenariolD )

REFERENCES ~questionscenario ( id ),

CONSTRAINT "question ibfk 4 FOREIGN KEY ( userID )

REFERENCES “user ("id")

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

ANSWER £ :

CREATE TABLE answer (

“id  int(11) NOT NULL AUTO_INCREMENT ,

“userID int(11) NOT NULL,

“content text NOT NULL,

“questionID int(11) NOT NULL COMMENT ,

“date datetime NOT NULL,

“isDelete tinyint (1) NOT NULL,
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PRIMARY KEY ( id ),

KEY userID ( userID ),

KEY questionID ( questionID ),

CONSTRAINT answer_ ibfk 1 FOREIGN KEY ( userID )

REFERENCES user (" id ),

CONSTRAINT answer ibfk 2 FOREIGN KEY ( questionID )

REFERENCES question ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

COMMENT % :

CREATE TABLE ~comment (
"id int(11) NOT NULL AUTO INCREMENT,
“userID int(11) NOT NULL,
“content text NOT NULL,
“answerID int(11) NOT NULL,
"date datetime NOT NULL,
“isDelete tinyint (1) NOT NULL,

PRIMARY KEY ( id ),
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KEY answerID ( answerlID ),

KEY userID ( userID ),

CONSTRAINT comment ibfk 1 FOREIGN KEY ( answerlID )

REFERENCES “user (Tid)),

CONSTRAINT ~comment ibfk 2 FOREIGN KEY ( userID )

REFERENCES “user ("id")

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

REPLY % :

CREATE TABLE “reply (

“id  int(11) NOT NULL AUTO_INCREMENT ,

“userID int(11) NOT NULL,

“content text NOT NULL,

“commentID int(11) NOT NULL,

"date datetime NOT NULL,

“count int(11) NOT NULL,

“isDelete tinyint (1) NOT NULL,

PRIMARY KEY ( id ),

45



KEY userID ( userID ),

KEY commentID ( commentID ),

CONSTRAINT reply ibfk 1 FOREIGN KEY ( userID )

REFERENCES “user (Tid)),

CONSTRAINT reply ibfk 2 FOREIGN KEY ( commentID )

REFERENCES ~comment ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

REPORT % :

CREATE TABLE report (

“id  int(11) NOT NULL AUTO INCREMENT,

“userID int(11) NOT NULL,

“type int (1) NOT NULL,

“int  tinytext NOT NULL,

“typeID  int(11) NOT NULL,

“date datetime NOT NULL,

“reasonID int(11) NOT NULL,
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PRIMARY KEY ( id ),

KEY userID ( userID ),

KEY “typeID  ( typelD ),

KEY reasonID ( reasonID ),

CONSTRAINT report_ibfk 1 FOREIGN KEY ( userID )

REFERENCES “user (Tid),

CONSTRAINT report ibfk 2 FOREIGN KEY ( typelD )

REFERENCES ~reporttype (" id’),

CONSTRAINT report ibfk 3 FOREIGN KEY ( reasonID )

REFERENCES reportreason ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

APPROVALCOMMENT # :

CREATE TABLE approvalcomment (

“id" int(11) NOT NULL AUTO_INCREMENT,

“date datetime NOT NULL,

“userID int(11) NOT NULL,
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“commentID int(11) NOT NULL,

PRIMARY KEY (" id),

KEY userID ( userID ),

KEY commentID ( commentID ),

CONSTRAINT approvalcomment ibfk 1 FOREIGN KEY

("userID ) REFERENCES user ( id ),

CONSTRAINT approvalcomment ibfk 2 FOREIGN KEY

(" commentID ) REFERENCES comment ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

APPROVALANSWER & :

CREATE TABLE approvalanswer (

“id  int(11) NOT NULL AUTO INCREMENT,

"date datetime NOT NULL,

“userID int(11) NOT NULL,

“answerID  int(11) NOT NULL,

PRIMARY KEY ( id ),
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KEY userID ( userID ),

KEY answerID ( answerlID ),

CONSTRAINT approvalanswer ibfk 1 FOREIGN KEY

REFERENCES “user (Tid)),

CONSTRAINT approvalanswer ibfk 2 FOREIGN KEY

("answerID ) REFERENCES answer ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

("userID )

OPPOSALANSWER % :

CREATE TABLE opposalanswer (

“id  int(11) NOT NULL AUTO INCREMENT,

“date datetime NOT NULL,

“userID int(11) NOT NULL,

“answerID int(11) NOT NULL,

PRIMARY KEY ( id ),

KEY userID ( userID ),

KEY answerID ( answerlID ),
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CONSTRAINT opposalanswer ibfk 1 FOREIGN KEY ( userID )

REFERENCES user (" id ),

CONSTRAINT opposalanswer ibfk 2 FOREIGN KEY

("answerID ) REFERENCES answer ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

MESSAGE % :

CREATE TABLE message (

“id  int(11) NOT NULL AUTO INCREMENT,

"date datetime NOT NULL,

“userID int(11) NOT NULL,

“isRead tinyint (1) NOT NULL,

“content text,

PRIMARY KEY ( id ),

KEY userID ( userID ),

CONSTRAINT userID FOREIGN KEY ( userID ) REFERENCES
‘user  (id)
) ENGINE=InnoDB DEFAULT CHARSET=utf8;
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APPROVALREPLY % :

CREATE TABLE “approvalreply (

“id  int(11) NOT NULL AUTO_ INCREMENT,

"date datetime NOT NULL,

“userID int(11) NOT NULL,

“commentID  int(11) NOT NULL,

PRIMARY KEY ( id ),

KEY userID ( userID ),

KEY commentID ( commentID ),

CONSTRAINT approvalreply ibfk 1 FOREIGN KEY ( userID )

REFERENCES “user (Tid)),

CONSTRAINT approvalreply ibfk 2 FOREIGN KEY

(" commentID ) REFERENCES comment ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

USERSTATE % :

CREATE TABLE userstate  (
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“id  int(11) NOT NULL AUTO INCREMENT,

“state varchar(255) CHARACTER SET utf8 COLLATE

utf8 general ci NOT NULL,

PRIMARY KEY ( id ) USING BTREE

) ENGINE = InnoDB AUTO INCREMENT = 1 CHARACTER SET = utf8
COLLATE = utf8 general ci ROW FORMAT = Dynamic;

SCHOOL % :

CREATE TABLE school (

“id  int(11) NOT NULL AUTO INCREMENT,

‘name varchar (20) NOT NULL,

PRIMARY KEY ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

COLLEGE #%:

CREATE TABLE college (

“id  int(11) NOT NULL AUTO_INCREMENT,

“name varchar (20) NOT NULL,

“schoolID int(11) NOT NULL,
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PRIMARY KEY ( id ),

KEY schoolID ( schoollD ),

CONSTRAINT college ibfk 1 FOREIGN KEY ( schoollID )

REFERENCES ~school™ (" id’)

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

MAJOR 5% :

CREATE TABLE major (

“id  int(11) NOT NULL AUTO INCREMENT,

“name varchar (20) NOT NULL,

“collegeID int(11) NOT NULL,

PRIMARY KEY ( id ),

KEY collegeID ( collegelD ),

CONSTRAINT major ibfk 1 FOREIGN KEY ( collegelD )

REFERENCES college ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;
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CATEGORIESTYPE % :

CREATE TABLE categoriestype (
“id  int(11) NOT NULL AUTO INCREMENT,
‘name varchar (20) NOT NULL,

PRIMARY KEY ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

subjectType F&:

CREATE TABLE subjecttype (
“id  int(11) NOT NULL AUTO INCREMENT,
"name varchar (20) NOT NULL,
“categoryID int(11) NOT NULL,
PRIMARY KEY ( id ),
KEY categoryID ( categoryID ),

CONSTRAINT subjecttype ibfk 1 FOREIGN KEY

(' categoryID ) REFERENCES categoriestype ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

54



MAJORTYPE % :

CREATE TABLE majortype (

“id  int(11) NOT NULL AUTO_ INCREMENT,

‘name varchar (20) NOT NULL,

“subjectID int(11) NOT NULL,

PRIMARY KEY ( id ),

KEY subjectID ( subjectID ),

CONSTRAINT majortype ibfk 1 FOREIGN KEY ( subjectID )

REFERENCES ~subjecttype ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

LEVEL % :

CREATE TABLE level (

“id" int(11) NOT NULL AUTO_INCREMENT,

“level int(11) NOT NULL,

“expTopLimit int(11) NOT NULL,
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“expBotLimit int(11) NOT NULL,

PRIMARY KEY (" id’)

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

ACHIEVEMENT % :

CREATE TABLE achievement (

“id  int(11) NOT NULL AUTO INCREMENT,

"name varchar (20) NOT NULL,

PRIMARY KEY ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

ACHTEVEMENTRECORD # :

CREATE TABLE achievementrecord  (

“id  int(11) NOT NULL AUTO_INCREMENT,

"date datetime(0) NOT NULL,

“userID int(11) NOT NULL,
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“achievementID int(11) NOT NULL,

PRIMARY KEY ("id ) USING BTREE,

INDEX userID ( userID ) USING BTREE,

INDEX achievementID ( achievementID ) USING BTREE,

CONSTRAINT achievementrecord ibfk 1 FOREIGN KEY
(‘userID ) REFERENCES user ( id ) ON DELETE RESTRICT ON

UPDATE RESTRICT,

CONSTRAINT achievementrecord ibfk 2 FOREIGN KEY
("achievementID ) REFERENCES achievement ( id ) ON DELETE

RESTRICT ON UPDATE RESTRICT

) ENGINE = InnoDB AUTO INCREMENT = 1 CHARACTER SET = utf8
COLLATE = utf8 general ci ROW FORMAT = Dynamic;

COLLECTIONPROBLEM % :

CREATE TABLE collectionproblem (

“id  int(11) NOT NULL AUTO_INCREMENT,

"date datetime NOT NULL,

“userID int(11) NOT NULL,
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“questionID int(11) NOT NULL,
PRIMARY KEY ("id ),

KEY "userID ( userID ),

KEY questionID ( questionID ),

CONSTRAINT collectionproblem ibfk 1 FOREIGN KEY

("userID ) REFERENCES user ( id ),

CONSTRAINT collectionproblem ibfk 2 FOREIGN KEY

("questionID ) REFERENCES question ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

SEARCHHISTORY % :

CREATE TABLE searchhistory (

“id  int(11) NOT NULL AUTO INCREMENT,

"date datetime NOT NULL,

“userID int(11) NOT NULL,

“content varchar (255) NOT NULL,

PRIMARY KEY ( id ),
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KEY userID ( userID ),

CONSTRAINT searchhistory ibfk 1 FOREIGN KEY ( userID )

REFERENCES “user (Tid))

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

BROWSTINGHISTORY % :

CREATE TABLE "browsinghistory (

“id  int(11) NOT NULL AUTO INCREMENT,

“date datetime NOT NULL,

“userID int(11) NOT NULL,

“questionID int(11) NOT NULL,

PRIMARY KEY ( id ),

KEY questionID ( questionID ),

KEY browsinghistory ikbf 1 ( userID ),

CONSTRAINT browsinghistory_ibfk 2 FOREIGN KEY

("questionID ) REFERENCES question ( id ),
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CONSTRAINT ~browsinghistory ikbf 1 FOREIGN KEY

(‘userID ) REFERENCES "user ( id)

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

REPORTTYPE % :

CREATE TABLE reporttype (

“id  int(11) NOT NULL AUTO INCREMENT,

“type varchar(255) NOT NULL,

PRIMARY KEY ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

QUESTIONTYPE £ :

CREATE TABLE questiontype (

“id  int(11) NOT NULL AUTO INCREMENT,

“categoryID int(11) NOT NULL,

“subjectID  int(11) NOT NULL,
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‘majorID int(11) NOT NULL,

PRIMARY KEY (" id),

KEY categoryID ( categoryID ),

KEY subjectID ( subjectID ),

KEY "majorID  (‘majorID’),

CONSTRAINT questiontype ibfk 1 FOREIGN KEY

(' categoryID ) REFERENCES categoriestype ( id ),

CONSTRAINT questiontype ibfk 2 FOREIGN KEY

("subjectID ) REFERENCES subjecttype ( id ),

CONSTRAINT questiontype ibfk 3 FOREIGN KEY ( majorID )

REFERENCES majortype ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

QUESTIONSTATE % :

CREATE TABLE questionstate (

“id  int(11) NOT NULL AUTO_INCREMENT,

“state varchar(11) NOT NULL,
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PRIMARY KEY ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

QUESTTONSCENARTO 3% :

CREATE TABLE questionscenario (
“id  int(11) NOT NULL AUTO INCREMENT,
"name varchar (255) NOT NULL,

PRIMARY KEY ( id )

) ENGINE=InnoDB DEFAULT CHARSET=utf8;

USERIDENTITY % :

CREATE TABLE useridentity  (
"id int(11) NOT NULL AUTO INCREMENT,
“schoolID int(11) NOT NULL,
“collegeID int(11) NOT NULL,

‘majorID int(11) NULL DEFAULT NULL,

62



“studentNum int (11) NULL DEFAULT NULL,
“jobNum int(11) NULL DEFAULT NULL,

"name varchar (32) CHARACTER SET utf8 COLLATE

utf8 general ci NOT NULL,

“type varchar (255) CHARACTER SET utf8 COLLATE

utf8 general ci NOT NULL,
PRIMARY KEY ( id ),

CONSTRAINT useridentity ibfk 1 FOREIGN KEY ( schoolID )
REFERENCES ~school (" id ) ON DELETE RESTRICT ON UPDATE

RESTRICT,

CONSTRAINT useridentity ibfk 2  FOREIGN KEY
("collegeID ) REFERENCES college ( id ) ON DELETE

RESTRICT ON UPDATE RESTRICT,

CONSTRAINT useridentity ibfk 3  FOREIGN KEY ( majorID )
REFERENCES "major ( id ) ON DELETE RESTRICT ON UPDATE

RESTRICT

) ENGINE = InnoDB AUTO INCREMENT = 1 CHARACTER SET = utf8
COLLATE = utf8 general ci ROW FORMAT = Dynamic;
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